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UNIT 1

TEST A

Part I Listening Comprehension (20 points)

Section A (10 points)
Directions: Listen to the following conversations and questions after them .Read the four
possible answers and decide which is the best response to each question you have heard . Then mark
the corresponding letter on the Answer Sheet with a single line through the center .

1. a. The man doesn’t need the woman’s help now.
b. The man’s memory is poor.
¢. The woman would love to help the man, but she’s too busy at the moment.
d. The man can’t think of anything that can be of help to the woman.
a
a

2. a. Chicago. b. San Francisco. c¢. Philadelphia. d. New York.
3. a. A computer programmer. b. An office cleaner.
c. A clerk at a dry cleaner’s. d. Cleaning windows temporarily.
4. a. They need to change their jobs.
b. They need to do something else as a change.
¢. He wants to take the vacation together with the woman.
d. He wants to have a rest at home.
5. a. He wants to have another interview.
b. He can’t get anything in his mind.
¢. He is not thinking about the interview any more.
d. He wants to get the job indeed.
6. a. He is a shop assistant. b. He is a businessman.
c. He is a barber. d. He is a tailor.
7. a. The food is very good. b. The food is very expensive there.
c¢. The food is not clean there. d. The food is not expensive at all.
8. a. To live alone. b. To travel around the world.
¢. To meet new people. d. To live with his parents.
9. a. 24. b. 72. c. 60. d. 48.
10. a. 726 —8256. b. 706 — 8346. c. 706 —8056. d. 786 —8526.

Section B (10 points)
Directions: In this section you will hear three passages. Choose the best answer to the question
J— 1 —



you have heard. Then mark the corresponding letter on the Answer Sheet with a single line
through the center .

Passage 1
Questions 1 to 3 are based on the passage you have just heard.
1. a. Because he has a big brain. b. Because he learns to speak.
c. Because he develops civilization. d. Because he knows many words.
2. a. Man can learn. b. Man can understand things.
¢. Man can make all kinds of noises. d. Man has language.
3. a. Animals can think as men do.
b. Animals can join words and make sentences.
c. Animals can make noises when they are afraid or angry.
d. Animals can think about the past and the future.
Passage 2
Questions 4 to 6 are based on the passage you have just heard.
4. a. There is a good side of city life. b. Urban people live a miserable life.
c. People feel lonely and unhappy in cities. d. City life is as bad as people can imagine.
5. a. Small town people were happier than city dwellers.
b. Small town people and city dwellers were both unhappy.
c. City dwellers were not as happy as small town people.
d. Urban people were even happier than small town people.
6. a. Happy and pleasant. b. Miserable and hard.
¢. Lonely and unpleasant. d. Exciting and interesting.
Passage 3 .
Questions 7 to 10 are based on the passage you have just heard.
7. a. He is a doctor. b. He is a bookbinder(FiT T N).
c. He is a librarian. d. He is a bookkeeper.
8. a. Many of them are unique. b. They are as interesting as old people.
c. They are expensive. d. They are cheap.
9. a. Dry the pages. b. Make a whole new cover.
c. Wash the pages. d. Return the book to the library.
10. a. Put the pages together. b. Return the book to the library.
c. Make a new cover. d. Remove the old cover.

Part II Reading Comprehension and Translation (50 points)

Section A (40 points)

Directions: In this section there are three passages and five underlined items chosen from the

three passages. Each passage is followed by a number of comprehension questions. Read the

passage and answer the questions. Then mark the corresponding letter on the Answer Sheet with
—_— 2 J—



a single line through the center and translate the five underlined items into Chinese on the
Answer Sheet .
Passage 1

Adam Smith, writing in the 1770s, was the first person to see the importance of the division
of labour and to explain part of its advantages. He gives as an example the process by which pins
were made in England.

“One man draws out the wire, another strengthens it, a third cuts it, a fourth points it, a
fifth grinds it at the top to prepare it to receive the head. To make the head requires two or three
distinct operations. To put it on is a separate operation, to polish the pins is another. It is even a
trade by itself to put them into the paper. And the important business of making pins is, in this
manner, divided into about eighteen distinct operations, which in some factories are all performed
by different people, though in others the same man will sometimes perform two or three of
them.”

Ten men, Smith said, in this way, turned out twelve pounds of pins a day or about 4,800
pins apiece. But if all of them had worked separately and independently without division of
labour, they certainly could not, each of them, have made twenty pins in a day and perhaps not
even one.

There can be no doubt that division of labour, provided that it is not taken too far, is an effi-

cient way of organizing work. Fewer people can make more pins. (1)Adam Smith saw this but he

also took it for granted that division of labour is in itself responsible for economic growth and de-

velopment and that it accounts for the difference between expanding economies and those that

stand still. But division of labour adds nothing new; it only enables people to produce more of
what they already have.
1. According to the passage, Adam Smith was the first person to
a. take advantage of the division of labour
b. introduce the division of labour into England
c¢. understand the effects of the division of labour
d. explain the causes of the division of labour
2. Adam Smith saw that the division of labour
a. enabled each worker to make pins more cheaply
b. increased the possible output per worker
c. increased the number of people employed in factories
d. improved the quality of pins produced
3. Adam Smith mentioned the number 4,800 in order to
a. show the advantages of the division of labour
b. show the advantages of the old craft system
c. emphasize how powerful the individual worker was
d. emphasize the importance of increased production
4. According to the writer, Adam Smith’s mistake was in believing that division of labour
J— 3 J—



a. was an efficient way of organizing work

b. was an important development in methods of production
c. inevitably led to economic development

d. increased the production of existing goods

5. “Provided that it is not taken too far” (in the first sentence of the last paragraph) means

a. if work is done near the factory

b. if the factory is not too big

c. if it is not led to extremity

d. if workers don’t have to go a long way
Passage 2

Geologists have been studying volcanoes for a long time. Though they have learned a great
deal, they still have not discovered the causes of volcanic action. They know that the inside of the
earth is very hot, but they are not sure exactly what causes the great heat. Some geologists have
thought that the heat is caused by the great pressure of the earth’s outer layers. Or the heat may
be left from the time when the earth was formed. During the last sixty years scientists have

learned about radium, uranium, and other radioactive elements. (2) These give out heat all the

time as they change into other elements. Many scientists now believe that much of the heat inside

the earth is produced by radioactive elements.

Whatever the cause of the heat may be, we do know that the earth gets hotter the farther
down we dig. In deep mines and oil wells the temperature rises about 1°F for each 50 feet. At
this rate the temperature 40 miles below the earth’s surface would be over 4,000°F . This is much
hotter than necessary to melt rock. However, the pressure of the rock above keeps most materials
from melting at their usual melting points. Geologists believe that the rock deep in the earth may
be plastic. In other words, rock yields slowly to pressure but is not liquid. But if some change in
the earth’s crust releases the pressure, the rock melts. Then the hot, liquid rock can move up to-
ward the surface.

(3)When the melted rock works its way (moves with difficulty) close to the earth’s crust, a

volcano may be formed. The melted rock often contains steam and other gases under great pres-

sure. If the rock above gives way, the pressure is released. Then the sudden expansion of the
gases causes explosions. These blow the melted rock into pieces of different sizes and shoot them
high in the air. Here they cool and harden into volcanic ash and cinders. Some of this material
falls around the hole made in the earth’s surface. The melted rock may keep on rising and pour
out as lava.

In this way, volcanic ash, cinders, and lava build up the cone-shaped mountains that we call
volcanoes.

6. The subject of this passage is
a. the formation of volcanoes b. the results of volcanic action
J— 4 —



c. the work of geologists d. the source of the heat inside the earth
7. Scientists now believe the cause of the heat inside the earth is
a. radioactive elements
b. the great pressure of the earth’s outer layers
¢. not determined
d. the heat remaining from the formation of the earth
8. Geologists believe that rock deep in the earth may be
a. liquid b. melted completely c. cooled slowly d. plastic
9. From the information given in Paragraph 2, if the temperature at the earth’s surface is 20°F ,
the temperature in a coal mine 500 feet below the surface would be
a. 50 degrees b. 40 degrees c. 30 degrees d. 500 degrees
10. A volcano may be formed if
a. radioactive elements give out enough heat
b. the pressure at the exact center of the earth increases greatly
c. some change in the earth’s crust releases the pressure, and the melted rock can move up
toward the surface
d. there is a sudden expansion of the gases contained in the melted rock
Passage 3
Every night she listened to her father going around the house, locking the doors and win-
dows. She listened: the back door closed, she could hear the catch of the kitchen window click,
and the restless pad of his feet going back to try the front door. (4)It wasn't only the outside

doors he locked; he locked the empty rooms, the bathroom, the lavatory. He was locking some-

thing out, but obviously it was something capable of penetrating his first defense. He raised his
second line all the way up to bed.
(5)In fifteen years, she thought unhappily, the house will be his; he had paid twenty-five

pounds down and the rest he was paying month by month as rent. “Of course,” he was in the

“

habit of saying, “I’ve improved the property.” “Yes,” he repeated, “I’ve improved the proper-
ty,” looking around for a nail to drive in, a weed to be uprooted. It was more than a sense of
property, it was a sense of honesty.

She stood with her ear against the wall, a small, dark, furious, immature figure. There was
1o more to be heard from the other room; but in her inner ear she still heard the chorus of a prop-
erty owner, the tap-tap of a hammer, the scrape of a spade, the whistle of radiator steam, a key

turning, a bolt fastening the door, the little trivial sounds of men building barricades. She stood

planning...

11. Apparently the father is concerned that
a. his daughter respects him b. he provides for his daughter’s future
c. he feels secure d. he avoids his neighbors

12. In this passage, the father is shown to be
a. unkind to his daughter b. suspicious of home improvements
— 5 J—



c. methodical in his actions d. friendly to his neighbors
13. In this passage, the girl’s attitude is one of
a. grateful acceptance b. great resentment
c. mild distaste d. stupid indifference
14. The last paragraph of this passage conveys a feeling of
a. simple faith b. great unconcern
c. joyous anticipation d. vague foreboding
15. The word “penetrate” means .
a. make a way into or through b. defeat ¢. punishment d. construction

Section B (10 points)

Directions: In this section there is ONE reading passage. Read the passage carefully and answer
the questions briefly or complete the incomplete sentences. Then write your answers on the
Answer Sheet .

In an age when waste today means a lack tomorrow, making use of every available resource
becomes more and more important. As coal is being used in greater and greater amounts to pro-
duce electricity, larger amounts of ash, by-product of coal, are produced. When coal is burned in
a boiler, two kinds of ash by-product are produced:a heavy bottom ash and a fine-powder fly ash
that is filtered and captured by precipitators. About 10 to 15 percent of the coal by-product is bot-
tom ash which is used like sand on icy city streets and highways and also on highways as paving
material. It is the fly ash, however, that is receiving the greater amount of attention. Fly ash
may be used as an additive to concrete in the construction of dams, bricks, and roads, and can re-
place up to 20 percent of the cement used in concrete. As a by-product of burned coal, fly ash re-
quires no additional expenditure of energy to be produced, whereas cement production requires
great amounts of energy.

In addition to using fly ash as a concrete additive, the technology is available to extract the
main mineral components — aluminum, silicon, and magnet. Today, extracting these compo-
nents is a very expensive process, but the time may come when it is cheaper to extract these prod-
ucts from ash than to mine new supplies.

1. What can be used as a material to pave roads?
What is a by-product of burned coal?
What can fly ash partly take the place of?
According to the passage, what attracts man’s greater attention?

[/ T RS I

. What can be extracted from fine-powder fly ash?
Part IIl Vocabulary and Structure (15 points)
Section A(5 points)

Directions: Each of the following sentences is provided with four choices. Choose the one that best
J— 6 —



completes the sentence. Mark the corresponding letter on the Answer Sheet with a single line

through the center .

1.

2.

10.

I have a number of to make about the management of the hotel.
a. claims b. accusations ¢. complaints d. grumbles
I have a letter my reservation at the hotel.
a. listing b. reassigning ¢. confirming d. banning

. He tried several times to suicide.
a. commit b. perform c. make d. offend

. He was rather upset by the news and so I am afraid that our careless remarks him.
a. recommended b. pursued c. fried d. offended
His mother always keeps a candle in the house there is a power cut.
a. in case b. in the case c. frightened d. in the event

. The case against Robert Jones was for lack of evidence.
a. refused b. dismissed c. eliminated d. discarded
The of living has risen by ten percent in the last three months.
a. expense b. cost ¢. price d. rate
Christiana told her husband to himself as if he were a gentleman, even though he
isn’t.
a. conduct b. treat c. act d. make

. After the campaign a special medal was to all combatants.
a. gained b. awarded c. earned d. deserved
The jury him of having committed the crime and he was sentenced to 10 years’ im-
prisonment.
a. assured b. charged c. suspected d. accused

Section B (5 points)
Directions: Each of the following sentences is provided with four choices. Choose the one that is
closest in meaning to the underlined part of the sentence. Mark the corresponding letter on the

Answer Sheet with a single line through the centre.

1.

All this experience he had put to use apparently will succeed.

a. cautiously b. automatically c. definitely d. evidently
They are due to sign a treaty to define the boundaries between the two countries.
a. expected b. managed c. conducted d. outraged

With his lack of experience and smaller physique, we didn’t think he has an opportunity of

winning the fight.
a. by chance b. stands a chance c. takes his chance d. by any chance

. There was perfect silence for two minutes.

a. excellent b. significant c. complete d. magnificent

. During their stay, they became familiar with many people there.



a. acquainted b. angry c. strict d. kind
6. The first, second and third prizes went to Tom, Nod and George respectively.

a. differently b. equally c. individually d. partially
7. T met an old friend of mine on my way to school.

a. in my way at b. on my road c. by the way to d. on my line
8. Ask the employee to come in.

a. person who acts like a policeman b. person who is hired as a paid worker

¢. person who cleans the office d. person who acts like a group leader
9. He got very little in reward for his hard work.

a. money b. prize c. note d. payment

10. He was dismissed for being late very often.
a. hired b. fired c. fined d. allowed to go

Section C (5 points)

Directions: Fill in the blanks with the words or expressions given below. Change the form if
necessary. Write them on the Answer Sheet .

circumstance / subsequent / fate / obvious / temporary / petty / employment / wander / of-
fence / accent

By then our had been decided and we were doomed never to return home.

I'll just around the campus for half an hour as there are some time to kill.

The skills were then passed on to generations.

Driving while drunk is a serious

He said he was not interested in details.

A lot of work now is and part-time.

For reasons we have had to cancel tonight’s performance.

The students are seeking after college.

R N

. The result was the best that could be expected under the

[
(e

. John speaks English with an American
Part IV Cloze (10 points)

Directions: Each blank in the following passage is provided with four possible choices . Read the
whole passage and choose the best answer for each blank . Then mark the corresponding letter on
the Answer Sheet with a single line through the center .

Both botany and zoology are parts of a more general field of science, biology. The two are
studies of 1  things, which __2  certain characteristics, whether they are plants or animals.
Botany deals with plants, 3  organisms that can manufacture their own _ 4 by the use of
sunlight. 5, on the other hand, deals with animals, those organisms that cannot manufac-

ture their own food and are 6 dependent on plants for their food.
I 8 —_



Although plants and animals share many abilities, the extent 7  which plants can _ 8
some of those abilities is _ 9 . For example, 10 plants 10 animals need food, water,
and warmth for growth, but plants can 11 to acquire those needs only by the slow 12 of
their leaves and roots, _ 13 animals can move relatively large distances in relatively 14
time. When an animal is hurt with a needle, the animal will 15  the part of the body 16

hurt. This ability to draw back from pain or irritation, 17  irritability, is found only to a very
limited extent in plants.

If plants had the same mobility and irritability as animals, animals _ 18  a more difficult
time finding food. If animals were as limited as plants, they might have evolveda _ 19 of man-
ufacturing their own food, as plants do now. The world would be a very different place than it is
if the characteristics of plants and animals were 20 .

1. a. alive b. living c. liveable d. lively

2. a. acquire b. enjoy c. share d. require

3. a. whose b. which c. what d. those

4. a. food b. warmth c. moisture d. air

5. a. Botany b. Zoology c. Psychology d. Biology

6. a. thus b. however c. furthermore d. moreover

7. a. within b. beyond c. to d. at

8. a. exhaust b. strain c. stretch d. exercise

9. a. limited b. unlimited c. definite d. indefinite
10. a. either...or b. neither... nor c. both...and d. all...but
11. a. run b. go c. do d. move

12. a. extension b. extent c. existence d. extraction
13. a. meanwhile b. while c. when d. where

14. a. few b. a few c. little d. alittle

15. a. extent b. develop c. achieve d. withdraw
16. a. being b. to be c. been d. to have been
17. a. listed b. called c. calling d. listing

18. a. will have b. would have had c. would have d. will have had
19. a. mean b. means c. trick d. trap

20. a. revised b. reviewed ¢. re-examined d. reversed

Part V. Writing (15 points)

Directions: For this part , you are allowed 30 minutes to write a composition on the topic PRE-
VENTING POLLUTION. You should write at least 100 words and you should base your com-
position on the outline below . Write your composition on the Answer Sheet .

1. Wrrsik,

2. BIREIIT

3. B¥ro



